
 

 

 
 

Răspunsuri la „Probabilităţi 2” 

 

1. a)ܲ(ܨ ∩ (തܤ =
1

10 

 b)ܲ(ܨ ∪ (ܤ =
7

10 

 c)ܲ(ܨത ∩ (തܤ =
3

10 

ܣ̅)ܲ .2 ∩ തܤ ) =
7

12 

3. a)ܲ =
160
400 

 b)ܲ =
370
400 

4. ܲ = 1 −
଴଼ܥ

ହ

ଵ଴଴ܥ
ହ  

5. ܲ =
7

90 

6. ܲ =
775
900 

7. ܲ =
378

2016 

8. ܲ =
9 ∙ 9 ∙ 8 ∙ 6

9000  

9. ܲ =
4

15 

10. ܲ =
7

10 ∙
3
9 

 

 

 

 

 

 

 

 

 

 

Răspunsuri la „Probabilităţi 3” 

 

1.  ܲ =
ଵ଴ܥ

ଷ

2ଵ଴ 

2.  ܲ =
5!
5ହ 

3.  ܲ =
5ସ

5ହ 

4.  ܲ =
10
5ଷ  

5.  ܲ =
4

12 

6.  ܲ =
ହܥ

ଷ

ଵ଴ܥ
ଷ  

7.  ܲ =
5ଶ

5ଷ 

8.  ܲ =
2ଷ − 1
2଻ − 1 

9.  ܲ =
9

900 

10.  ܲ =
ହܣ

ସ

5ସ  

11.  ܲ =
4  
4ସ 

12.  ܲ =
7

15 ∙
5

14 ∙
3

13 
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